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456575 89:; <=< > ?@A@BCDE@ > F

T =
ϕ̇2

2
(2 ctgϕ+ 3)

Q = −108 G ϕ = π/4 G ϕ̇ = 7
.

456575 89:; <; < HIJDAKL M F

T =
ϕ̇2

2
(7 tg2 ϕ+ 11)

Q = 486 G ϕ = π/4 G ϕ̇ = 6
.

456575 89:; <: < HIBDE@ N @BO@BCP

T =
ϕ̇2

2
(10 cos2 ϕ+ 5)

Q = −180 G ϕ = π/4 G ϕ̇ = 6
.

456575 89:; <Q < R SIA TUVP

T =
ϕ̇2

2
(14 sin2(3ϕ) + 7)

Q = −63 G ϕ = π/4 G ϕ̇ = 1
.

456575 89:; <W < X@Y@Z LE >U DKBD[

T =
ϕ̇2

2
(4 sin2 ϕ+ 3)

Q = 83 G ϕ = π/4 G ϕ̇ = 3
.

456575 89:; <\ < XD]UPAIYVA@ >AA@

T =
ϕ̇2

2
(2 tg2 ϕ+ 7)

Q = 127 G ϕ = π/4 G ϕ̇ = 5
.

456575 89:; <^< _ @`@UKVA >ZO D]

T =
ϕ̇2

2
(6 cos2 ϕ+ 3)

Q = 54 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <a < _ LJULE@ b @Z S@Z VO@

T =
ϕ̇2

2
(4 sin2(3ϕ) + 9)

Q = −84 G ϕ = π/4 G ϕ̇ = 5
.

456575 89:; <c < _ LU DBAVKLE HU Dd

T =
ϕ̇2

2
(7 ctgϕ+ 7)

Q = 14 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <=e < _ LZ LOKVA fF

T =
ϕ̇2

2
(3 cos(2ϕ) + 3)

Q = −45 G ϕ = π/4 G ϕ̇ = 4
.

456575 89:; <==< _ Lg DU DE@ > F

T =
ϕ̇2

2
(4 tg2 ϕ+ 5)

Q = 254 G ϕ = π/4 G ϕ̇ = 5
.

456575 89:; <=; < _Z hULE >U DKBD[

T =
ϕ̇2

2
(5 tgϕ + 11)

Q = 420 G ϕ = π/4 G ϕ̇ = 6
.

456575 89:; <=: < i DLADAKLE@ j F

T =
ϕ̇2

2
(4 sin2(3ϕ) + 9)

Q = −61 G ϕ = π/4 G ϕ̇ = 1
.

456575 89:; <=Q < b @] DkLE l@] VA

T =
ϕ̇2

2
(2 cos(2ϕ) + 5)

Q = −8 G ϕ = π/4 G ϕ̇ = 2
.



456575 89:; <=W < N VKIUVA@ > F

T =
ϕ̇2

2
(4 sin(2ϕ) + 18 sin2 ϕ+ 1)

Q = 36 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <=\ < M @EU LE > F

T =
ϕ̇2

2
(14 sin2(3ϕ) + 5)

Q = −636 G ϕ = π/4 G ϕ̇ = 6
.

456575 89:; <=^< M @SVA m F

T =
ϕ̇2

2
(2 sin(2ϕ) + 22 cos2(3ϕ))

Q = 1591 G ϕ = π/4 G ϕ̇ = 7
.

456575 89:; <=a < M DZ DELJ`VKLE@ N F

T =
ϕ̇2

2
(10 cos2 ϕ+ 5)

Q = 30 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <=c < M LknP`DE@ > F

T =
ϕ̇2

2
(7 tg2 ϕ+ 9)

Q = 120 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <;e < oEVZ SIA >U DKB@AkZ

T =
ϕ̇2

2
(5 tg2 ϕ+ 7)

Q = 444 G ϕ = π/4 G ϕ̇ = 6
.

456575 89:; <;=< oIk@KLE lDkLZ

T =
ϕ̇2

2
(7 sin(2ϕ) + 6 cos2(3ϕ))

Q = 174 G ϕ = π/4 G ϕ̇ = 4
.

456575 89:; <;; < oIk@Z VKLE oEPOLBU@E

T =
ϕ̇2

2
(2 sin(2ϕ) + 6 cos2(3ϕ))

Q = 451 G ϕ = π/4 G ϕ̇ = 7
.

456575 89:; <;: < pPdIO qUVJ@EDO@

T =
ϕ̇2

2
(2 sin(2ϕ) + 10 sin2 ϕ+ 1)

Q = −11 G ϕ = π/4 G ϕ̇ = 3
.

456575 89:; <;Q < lL] DAKLE rUCP

T =
ϕ̇2

2
(3 sin(2ϕ) + 10 cos2(3ϕ))

Q = 164 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <;W < j @ZU @] LE > F

T =
ϕ̇2

2
(7 tg2 ϕ+ 5)

Q = 78 G ϕ = π/4 G ϕ̇ = 3
.

456575 89:; <;\ < sDYZ@ALE@ tF

T =
ϕ̇2

2
(7 cos(2ϕ) + 3)

Q = −51 G ϕ = π/4 G ϕ̇ = 3
.

456575 89:; <;^< u VZ LKLE@ b @Z VP

T =
ϕ̇2

2
(4 sin2(3ϕ) + 9)

Q = 23 G ϕ = π/4 G ϕ̇ = 3
.
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ϕ̈ ���������   �¡���¢�£ ¤¥
5ϕ̈− 2ϕ̇2 = Q ¦§¨©¨ª«¬­¨ ¦ ®¥ ¤ £
18ϕ̈+ 14ϕ̇2 = Q ¯°±¬©²³ ´ ®µ ¶
10ϕ̈− 5ϕ̇2 = Q ¯°ª¬­¨ ·¨ª¸¨ª«¹º ¤µ
14ϕ̈− 21ϕ̇2 = Q »¼°© ½¾¿¹À £µ
5ϕ̈+ 2ϕ̇2 = Q Á¨Â¨Ã³­ ¦¾¬²ª¬ÄÅ µ
9ϕ̈+ 4ϕ̇2 = Q Á¬Æ¾¹©°Â¿©¨ ¦©©¨Ç ££
6ϕ̈− 3ϕ̇2 = Q È¨É¨¾²¿© ¦Ã¸¬ÆÊ Å
11ϕ̈− 6ϕ̇2 = Q È³±¾³­¨ Ë ¨Ã¼¨Ã¿¸¨Ì µ
14ϕ̈− 7ϕ̇2 = Q È³¾¬ª©¿²³­ ¯¾¬Í£¶ £
3ϕ̈− 3ϕ̇2 = Q È³Ã³¸²¿© Î®££ Å
9ϕ̈+ 8ϕ̇2 = Q È³Ï¬¾¬­¨ ¦ ®£¥ £À
16ϕ̈+ 5ϕ̇2 = Q ÈÃÐ¾³­ ¦¾¬²ª¬Ä£µ ¤À
11ϕ̈− 6ϕ̇2 = Q Ñ¬³©¬©²³­¨ Ò ®£º ¶
5ϕ̈− 2ϕ̇2 = Q Ë¨Æ¬Ó³­ Ô¨Æ¿©£À ¶
14ϕ̈+ 9ϕ̇2 = Q ·¿²°¾¿©¨ ¦ ®£Å £¶
12ϕ̈− 21ϕ̇2 = Q ´¨­¾³­ ¦ ®£Ç ¤¥
13ϕ̈+ 33ϕ̇2 = Q ´¨¼¿© Õ ®£Ê À
10ϕ̈− 5ϕ̇2 = Q ´¬Ã¬­³±É¿²³­¨ · ®£Ì º
16ϕ̈+ 14ϕ̇2 = Q ´³ÓÖ¹É¬­¨ ¦ ®¥¶ Ç
12ϕ̈+ 10ϕ̇2 = Q ×­¿Ã¼°© ¦¾¬²ª¨©ÓÃ¥£ µ
10ϕ̈+ 9ϕ̇2 = Q ×°Ó¨²³­ Ô¬Ó³Ã¥¥ ¥
5ϕ̈+ 9ϕ̇2 = Q ×°Ó¨Ã¿²³­ ×­¹¸³ª¾¨­¥µ ¤Ç
8ϕ̈+ 5ϕ̇2 = Q Ø¹Í°¸ Ù¾¿±¨­¬¸¨¥º £µ
8ϕ̈+ 15ϕ̇2 = Q Ô³Æ¬©²³­ Ú¾«¹¥À ¤º
12ϕ̈+ 14ϕ̇2 = Q Ò¨Ã¾¨Æ³­ ¦ ®¥Å º
3ϕ̈− 7ϕ̇2 = Q Û¬ÂÃ¨©³­¨ Ü ®¥Ç Ç
11ϕ̈− 6ϕ̇2 = Q Ý¿Ã³²³­¨ Ë ¨Ã¿¹Þ ßàá â�ãä åµ¥ææçè


